A packet contains 1.5kg of oats, [m— m

Every day Maria uses 509 of oats to make porridge.

How many days does the packet of oats last?

Show
your
method

days

Step 1: If Maria had 100g oats per day. How many days would it last? Explain how you know.

How much would 2kg oats last?

Step 2: It takes 5 hour and 30 minutes to finish my book. If | read for 15 minutes a day how long
would it take to finish the book?

Step 3: It costs £7.50 for 1 Kg
How much would 2 Kg cost?
How much would 5 Kg cost?

How much would 100kg cost?



